Urban Patterns
Introduction
Cities are organized differently throughout the world for different reasons.  Issues of history, physical features, and colonization can all affect how people and institutions are distributed within an urban space.  Geographers use urban patterns to reason about the common features of urban spaces and why theses common features exist in many urban landscapes.  Today we will be looking at 3 different urban patterns and how they model the layout of a familiar city like Denver and a Latin American city, in this case Mexico City. 
Exercise
Use Google Maps to navigate to the addresses provided and look around using street view.  Use what you see to answer the questions.
For these questions we will be examining the perihperal model and the multiple nuclei model.
Denver
1) Where should the CBD be located according to each of these urban patterns?
2) Navigate to 1800  Arapahoe St. Denver CO.  Does this confirm what the patterns would predict?
3) Look at 380 High St. Denver CO.  What would the patterns predict would be located in this area?  Look at the area using street view.  Does this confirm what the pattern predicts?
4) Compare the peripheral model and the multiple nuclei model.  Are their predictions mostly the same or different?  Do they model the same kinds of cities?
Mexico City
1) Find the Allende metro station on the map.  Look around the area.  What kind of area is this?  How is it different than what you would expect from an American city in a similar location?
2) Suburbs in the United States are often wealthy areas.  Look at the following place on the map and on street view.
Boca Negra, Los Reyes Acaquilpan, State of Mexico, Mexico
Is this a location where a suburb might be in an American city?  What is different about this place than you would expect in a city in the United States?  Does this agree with the Latin American city pattern from your textbook?
